Please help with the following problems. Show all work so I can figure out how to solve them.  Thanks

1. find the volume of the solid generated by revolving the region enclosed by 

y = x2, y = 4x – x2     about the line x = 2

2. find the arc length of the graph of the curve

y = x4 / 8 + 1 / 4x2   over the interval [1,2] 

3. integrate        x

                         (    xsin2x dx
                  0 

4. integrate

( cos2 3x dx
5. integrate  

                            ( [x2 / ((25-x2)] dx
6. integrate

          ( [(x2 + 12x + 12) / (x3 + 4x)] dx
7. integrate

        2 

        (   [(x + 1) / (x3 + x)] dx
             1

8. find the limit of the improper integral

                   (
    (   (2x – 3)e-x dx

       1

9. find the arc length of the curve given in parametric form by

x = √t, y = 3t – 1, 0 ≤ t ≤ 1

10. find the equation of the tangent line in Cartesian coordinates of the curve given in polar coordinates by

 r = 3(1 – cos 0) at π/2

